

$$\log_n^m = a \rightarrow n^a = m$$

$$\log_{mn}^{mn} = b \xrightarrow{n^a = m} \log_{n^a \cdot n}^{(n^a)^n} = \log_{n^{a+1}}^{n^{na+1}} \rightarrow \frac{na+1}{a+1} \log_n^n \rightarrow \frac{na+1}{a+1} = b$$

$$a > 0 \Rightarrow \frac{a+1+0}{a+1} = \frac{a}{a+1} + 1 = 1, \odot \rightarrow [1, \infty) = 1$$

$[b] = ?$

الف) $y = \sqrt{\frac{x}{\log_{\frac{1}{2}} x}} \rightarrow \frac{x}{\log_{\frac{1}{2}} x} \geq 0, \neq 0 \rightarrow \frac{x+1}{x} \geq 0 \rightarrow \frac{1}{-1} + \frac{1}{x} \geq 0 \Rightarrow D_f = (0, \infty)$

ب) $\frac{\log_f (x^2 - x - 2)}{\sqrt{x^2 - 1} + 1} \xrightarrow{\text{شرایط}} \begin{cases} x^2 - x - 2 > 0 \rightarrow (x-2)(x+1) > 0 \\ x^2 - 1 > 0 \rightarrow x^2 > 1 \end{cases} \rightarrow \begin{cases} x > 2 \\ x < -1 \end{cases}$

$D_f = (-\infty, -1) \cup (2, +\infty)$

$$2 \log_n^a + \log_a^{\sqrt{x}} = 2 \rightarrow 2 \log_n^a + \frac{1}{\sqrt{x}} \log_a^x = 2$$

$x=9 \Rightarrow \frac{2}{\log_n^9} + \frac{1}{\sqrt{9}} \log_a^9 = 2 \xrightarrow{\text{تغییر متغیر}} \log_a^9 = t \rightarrow \frac{2}{t} + \frac{1}{3} t = 2$

$a=9 \Rightarrow \frac{2}{t} + \frac{1}{3} t = 2 \rightarrow \frac{1}{3} t^2 - 2t + 2 = 0$

$x^2 \rightarrow t^2 - 4t + 4 = 0 \rightarrow t = \frac{4 \pm \sqrt{16-16}}{2} = 2 \rightarrow \begin{cases} x=9 \\ \log_n^9 \end{cases} \rightarrow \log_a^9 = 2$

$\Rightarrow a^2 = 9 \rightarrow a = 3$

$\log_2 2 = 0, 1$
 $\log_3 3 = 0, 1$

اختلاف = $\frac{\sqrt{\Delta}}{|a|} = \frac{\sqrt{b^2 - 4ac}}{|a|} = \frac{\sqrt{(2 \log^2)^2 + 4(\log^5 - \log^3)(\log^5 + \log^3)}}{|2 \log^2|}$

$(\log^{\frac{5}{2}})^2 x^2 + (\log^9) x - \log^{10} = 0 \rightarrow \begin{cases} \log^9 = 2 \log^3 \\ \log^{10} = \log^5 - \log^3 \end{cases} \rightarrow \frac{\sqrt{4(\log^3)^2 + 4(\log^5)^2 - (\log^3)^2}}{|2 \log^2|}$

اختلاف = ? $\Rightarrow \log^5 = \log^{\frac{10}{2}} = \log^{10} - \log^3 = 1 - 0, 3 = 0, 7$

ادامه صفحه سوم

$\log_2^2 = 2, 18$
 $\log_5^2 = 0, 15$

$\log_{15}^{10} = \frac{\log_2^2 + \log_5^2}{\log_2^2 + \log_5^2} = \frac{\log_2^{10}}{\log_2^{10}} = \log_{15}^{10}$

$\log_{15}^{10} = ? \Rightarrow c = 2 \rightarrow \frac{1 + \log_2^2}{1 + \log_2^2} = \frac{1 + 0, 15}{1 + 2, 18} = \frac{1, 15}{3, 18} = \frac{1, 15}{3, 18} = \frac{1, 15}{3, 18} = \frac{1, 15}{3, 18}$

$\Rightarrow \frac{1, 15}{3, 18}$

* این سوال نیز مانند سوال ۵ حل می شود *

$$\lg_{\sqrt{r}}^{\omega} = 1, \omega$$

$$\lg_{\sqrt{r}}^r = 1, r$$

$$\lg_{\omega}^r = ?$$

$$\frac{\lg_{\sqrt{r}}^r + \lg_{\sqrt{r}}^r}{\lg_{\sqrt{r}}^{\omega} + \lg_{\sqrt{r}}^r} = \frac{\lg_{\sqrt{r}}^r}{\lg_{\sqrt{r}}^{\omega}} = \lg_{\omega}^r \xrightarrow{\text{if}} C = r \rightarrow \frac{\lg_{\sqrt{r}}^r + \lg_{\sqrt{r}}^r}{\lg_{\sqrt{r}}^{\omega} + \lg_{\sqrt{r}}^r} = \frac{1, r + 1}{1, \omega + 1}$$

$$\Rightarrow \frac{\frac{\omega}{r} + \frac{1}{r}}{\frac{r}{r} + \frac{r}{r}} = \frac{\frac{1, r}{r}}{\frac{\omega}{r}} = \frac{1, r \times r}{r \times \omega} = \frac{1, r}{r \omega} = \frac{1}{r \omega}$$

$$\lg_{\lambda}^m = m$$

$$\text{if } \lg_{\sqrt{r}}^r = x \rightarrow r = \sqrt{r} \rightarrow (\sqrt{r})^x = r \times r \Rightarrow r = r \times r \xrightarrow{\text{if}} r = r$$

$$\lg_{\sqrt{r}}^r = x \rightarrow \lambda^m = 1 \lambda \rightarrow r = 1 \lambda \xrightarrow{\div r} r^{m-1} = 1$$

$$\Rightarrow \begin{cases} r^x = r^{m-1} \\ 1 = r^{m-1} \end{cases} \xrightarrow{x=m-1} r^{m-1} = r^{m-1}$$

$$\Rightarrow \lg_{\sqrt{r}}^r = x \Rightarrow r^x = r^{m-1} \times r \rightarrow x = \frac{r^{m-1} + r}{r} = \frac{r}{r} (m+1)$$

$$(0, r)^{r^{m-1}} = \left(\frac{1, r \omega}{r}\right)^{r^r} \Rightarrow \left(\frac{r}{\omega}\right)^{r^{m-1}} = \left(\left(\frac{\omega}{r}\right)^r\right)^{r^r} \rightarrow \left(\frac{r}{\omega}\right)^{r^{m-1}} = \left(\left(\frac{r}{\omega}\right)^{-1}\right)^{r^r} \Rightarrow \left(\frac{r}{\omega}\right)^{r^{m-1}} = \left(\frac{r}{\omega}\right)^{-r^r}$$

$$\lg_{\lambda}^{(9x+1)} = ? \Rightarrow r^{m-1} = -r^m \rightarrow r^{m-1} + r^m = 0 \rightarrow x = \frac{-r \pm \sqrt{r^2 + 1, r}}{r} = \frac{-r \pm \sqrt{1, r}}{r}$$

$$\Rightarrow m = \frac{-r \pm r}{r} \xrightarrow{-1 \text{ و } 0} \lg_{\lambda}^{(9x+1)} \xrightarrow{x=1/r} \lg_{\lambda}^r = \lg_{\sqrt{r}}^r$$

$$\Rightarrow \frac{r}{r} \lg_{\sqrt{r}}^r = \frac{r}{r}$$

$$\lg_{\sqrt{r}}^r = a$$

$$\lg_{\lambda}^b = \frac{r}{r} (1+a) \Rightarrow \lg_{\sqrt{r}}^b = \frac{1}{r} \lg_{\sqrt{r}}^b = \frac{r}{r} (1+a) \Rightarrow b = r^{r(1+a)} = r^{r+ra} = r^r \times r^{ra}$$

$$\Rightarrow r^{ra} = r^{r \lg_{\sqrt{r}}^r} \rightarrow r^{ra} \times r = r^{r \lg_{\sqrt{r}}^r} \times r = r^{r \lg_{\sqrt{r}}^r + r} = r^{r \lg_{\sqrt{r}}^r + r}$$

$$\lg(r^b - 1) = ? \xrightarrow{\text{if}} \lg(r^r \times r^r - 1) = \lg(10 \lambda - 1) = \lg 100 = r$$

$$-f a x^r + b x + \frac{1}{r} c = 0 \xrightarrow{\div f} \frac{1}{-f a} = \frac{f a}{b} = \lg^f \xrightarrow{\div f} \frac{a}{b} = \frac{\lg^f}{f} = \frac{r \lg^r}{f}$$

$$\frac{1}{a+b} = \lg^f \rightarrow r a = b + c \rightarrow \frac{r a}{b} = 1 + \frac{c}{b} \rightarrow \frac{r a}{b} = \frac{r \lg^r}{f} = 1 + \frac{c}{b}$$

$$a = \frac{b+c}{r} \rightarrow \begin{cases} \frac{a}{b} = \frac{\lg^r}{r} \\ \frac{c}{b} = \lg^r - 1 \end{cases} \rightarrow \frac{c}{a} = \frac{\lg^r - 1}{\frac{\lg^r}{r}} = \frac{\lg^r - \lg^0}{\frac{1}{r} \lg^r} = \frac{\lg^r}{\lg^r} = \lg^{\frac{1}{r}}$$

$$\xrightarrow{\text{if}} \left(\frac{1}{\sqrt{r}}\right) \lg_{\sqrt{r}}^r \rightarrow \left(\frac{1}{\omega}\right) \lg_{\sqrt{r}}^r = \left(\frac{1}{\omega}\right)^{-\frac{1}{r}} \lg^r = \left(\frac{1}{\omega}\right)^{-\frac{1}{r}} = \omega^{\frac{1}{r}} = \sqrt[r]{\omega}$$

ابری سوال 4 ←

$$\begin{cases} \lg^2 = 0,3 \\ \lg^3 = 0,4 \\ \lg^4 = 0,5 \end{cases}$$

→

$$\sqrt{f(\cancel{(\lg^3)^2} + (\lg^4)^2 - \cancel{(\lg^2)^2})}$$

$$|\lg^4 - \lg^3|$$

$$\Rightarrow \frac{\sqrt{f(0,5)^2}}{|0,5 - 0,4|} = \frac{\sqrt{f \times 0,25}}{0,1} = \frac{5 \times 0,5}{0,1} = \frac{2,5}{0,1} = \frac{25}{1}$$